

IDEAL STRUCTURE IN 3-RINGS

B. Vijaya Kumar^{1*}, P. Koteswara Rao²

Abstract: This paper presents Ideal structure in 3- rings, principal ideal of a 3- ring is generated by an idempotent, every principal ideal has unique inverse principal ideal and the class of all principal ideals of a 3- ring is a complemented modular lattice.

Definition 1: A commutative ring $(R, +, \cdot, 1)$ such that $x^3 = x$, $3x = 0$ for all x in R is called a 3-ring.

Definition 2: An ideal in a 3-ring R is a set I of R such that

- (a) $x, y \in I \Rightarrow x + y \in I$
 - (b) $x \in I, y \in R \Rightarrow xy \in I$
- Here after R stands for a 3-ring.

Note: Intersection of ideals is an ideal.

Note: (a) The class of all ideals of R forms a partially ordered set with respect to the set theoretical inclusion. This set has a minimum element $O = (0) = 0R$, and maximal element $R = (1)$.

(b) Suppose I, J, \dots are ideals of R , then there exists a maximal ideal which is contained in I, J, \dots , it is denoted by $\text{glb}\{I, J, \dots\}$.

(c) Suppose I, J, \dots are ideals. Then there exists a minimal ideal which contains I, J, \dots and is denoted by $\text{lub}\{I, J, \dots\}$.

(d) I, J are ideals, then
 $I \vee J = \text{lub}\{I, J\}$
 $I \wedge J = \text{glb}\{I, J\}$

\therefore The set of all ideals of R forms a lattice with meet $I \wedge J$ and join $I \vee J$, zero (0) , and unit $R = (1)$.

Two ideals I, J are inverses if $I \wedge J = O, I \vee J = R$.

$I \vee J = \{x+y \mid x \in I, y \in J\}$.

Note: (1) Here after R stands for 3-ring with unit 1.
(2) For every $a \in R$, aR denoted (a) is an ideal called principal ideal.

Definition 3: An element $e \in R$ is called an idempotent if $e^2=e$.

Lemma 1: e is an idempotent $\Leftrightarrow 1 - e$ is an idempotent.

Proof: Suppose e is an idempotent.

$$(1-e)^2 = 1+e^2-2e = 1+e-2e = 1-e$$

$\therefore 1 - e$ is an idempotent.

Conversely suppose $1-e$ is an idempotent, then $1-(1-e)$ is an idempotent, i.e., e is an idempotent.

Note that if e is an idempotent then $e(1-e) = 0$.

Lemma 2: For any $a \in R$, a^2 is an idempotent.

Proof: Suppose $a \in R \Rightarrow a^3 = a$ ($\because R$ is a 3-ring).

$$(a^2)^2 = a^2 \cdot a^2 = a^3 \cdot a = a \cdot a = a^2$$

$\therefore a^2$ is an idempotent for every $a \in R$.

Lemma 3: For every $a \in R$, $(a) = (e)$ where e is an idempotent.

Proof: Suppose $a \in R$, put $e = a^2$.
Then e is an idempotent.

Claim: $(a) = (e)$.

$$x \in (a) \Rightarrow x = az \text{ for some } z \in R$$

$$= a^3z = a^2(az) \in (a^2) = (e).$$

$$\therefore x \in (e).$$

$$x \in (a^2) \Rightarrow x = a^2z \text{ for some } z \in R$$

$$= a(az) \in (a).$$

$$\therefore (a^2) \subseteq (a) \text{ i.e., } (e) \subseteq (a).$$

$$\therefore (a) = (e) \text{ where } e \text{ is an idempotent.}$$

Note: $x \in (e)$ where e is an idempotent $\Leftrightarrow x = ex$.

For: $x \in (e) \Rightarrow x = ez$ for some $z \in R$.

$$ex = e(ez) = e^2z = ez = x.$$

$$\therefore x = ex.$$

$$\therefore x \in (e) \Rightarrow x = ex$$

Suppose $x = ex \Rightarrow x \in (e)$

$$\therefore x \in (e) \Leftrightarrow x = ex.$$

Lemma 4: For every $a \in R$ there is an ideal J such that (a) and J are inverse ideals.

Proof: Suppose $a \in R$.

$\Rightarrow \exists$ an idempotent $e \in R$ such that $(a) = (e)$.

Put $I = (e)$.

Consider $J = (1-e)$.

Then $I \wedge J = 0$, $I \vee J = R$.

$\therefore I$ and J are inverse ideals.

For $x \in I \wedge J \Rightarrow x \in I, x \in J$
 $\Rightarrow x = ey, x = (1-e)z$ for some $y, z \in R$.
 $1 = e + [1 - e] \in I \vee J$
 $\therefore I \vee J = R$.
 $x \in I \wedge J \Rightarrow x \in I, x \in J$
 $\Rightarrow x = ex, x = (1-e)x$
 $x = (1-e)x = x - ex = x - x = 0$.
 $\therefore I \wedge J = 0$.

$\therefore I, J$ are inverse ideals.

Lemma 5: I and J are inverse ideals. Then there is an idempotent $e \in R$ such that $I = (e), J = (1-e)$.

Proof: Since $I \vee J = R$, so $1 \in I \vee J$
 $\Rightarrow 1 = x + y$ for some $x \in I, y \in J$.
 Let $z \in I$.
 $1 = x + y$
 $z = xz + yz \Rightarrow z - xz = yz \in I$.
 But $yz \in J \Rightarrow yz = 0$
 $\therefore I \wedge J = 0$.
 $z = xz + yz = xz \in (x) \Rightarrow I \subseteq (x)$ and clearly $(x) \subseteq I$.
 $\therefore I = (x)$.

Similarly $J = (1-x)$
 $\therefore y = 1-x$

Consider $x - x^2 = x(1-x) = xy = yx$.
 $\therefore x - x^2 \in (x), (y)$
 $\therefore x - x^2 \in I \cap J$
 $\Rightarrow x - x^2 = 0$
 $\therefore x^2 = 0$.

x is an idempotent.

Take $x = e$.

$\therefore I = (e), J = (1 - e)$.

Lemma 6: I and J are inverse ideals and $I = (e)$ where $e^2 = e$ as in the above lemma, then e is unique idempotent.

Proof: $I = (e)$, then $J = (1 - e)$.

Suppose there exist another idempotent f such that $I = (f)$,

$J = (1 - f) \Rightarrow (e) = (f), (1 - e) = (1 - f)$.

Claim: $e = f$.

$\therefore e \in (e) \Rightarrow e \in (f)$

$\Rightarrow e = ef.$
 Similarly $f = fe.$
 $\therefore e = ef = fe = f.$
 $\therefore e$ is unique.

Definition 4: The ring R is said to be semi-simple, if the radical of R consists of the zero element alone.

Theorem 1: Every 3-ring is a semi-simple ring.

Proof: Suppose R is a 3-ring.

\therefore For every $a \in R$, there exists an idempotent e such that $(a) = (e).$

Let I be a non-zero ideal.
 Let $a \in I$ and $a \neq 0$
 \Rightarrow there exists an idempotent e such that $(a) = (e)$
 $\Rightarrow e \neq 0$
 $\Rightarrow e = e^n \in I^n$
 $\Rightarrow I$ is not nilpotent ideal.
 $\therefore R$ is a semi-simple ring.

Theorem 2: If I and J are two principal ideals, then there exist two idempotents e, f such that $ef = 0$ and $I \vee J = (e) \vee (f).$

Proof: Suppose R is a 3-ring and I is a principal ideal, then there exist an idempotent $e \in R$ such that $I = (e).$

Let $J = (b).$
 Let $J_1 = ((1-e)b)$
 $I \vee J = \{x+y \mid x \in I, y \in J\}$
 $= \{eu + bv \mid u, v \in R\}$
 $I \vee J_1 = \{x+y \mid x \in I, y \in J_1\}$
 $= \{eu' + (1-e)bv \mid u', v \in R\}$
 $= e(u' - bv) + bv$
 $= I \vee J$

$\therefore J_1$ is a principal ideal and R is a 3-ring, then there exist an idempotent f_1 such that $J_1 = (f_1).$
 $\therefore f_1 \in J_1 \Rightarrow f_1 = (1-e)bw$ for some $w \in R.$
 $e f_1 = e(1-e)bw = 0.$
 $\therefore e f_1 = 0.$

Let $f = f_1(1-e)$
 $f f_1 = f_1(1-e) f_1 = (f_1 - e f_1) f_1$
 $= f_1 \cdot f_1 = 0.$

$$\begin{aligned} \therefore f f_1 &= f_1 \\ f^2 &= f \cdot f = f f_1 (1-e) \\ &= f_1 (1-e) = f. \\ \therefore f^2 &= f. \end{aligned}$$

$\therefore f$ is an idempotent.

$$\therefore I \vee J = I \vee J_1 = (e) \vee (f_1) = (e) \vee (f).$$

$$\therefore I \vee J = (e) \vee (f)$$

$$ef = e f_1 (1-e) = 0$$

$$\therefore ef = 0.$$

Lemma 7: If I and J are principal ideals then $I \vee J$ is a principal ideal.

Proof: From above lemma, there exist idempotents e, f such that $I \vee J = (e) \vee (f)$ and $ef = 0$.

$$\therefore e + f \in (e) \vee (f)$$

$$\Rightarrow (e + f) \subseteq (e) \vee (f)$$

$$\therefore e \in (e + f), f \in (e + f) \Rightarrow (e) \subseteq (e + f), (f) \subseteq (e + f).$$

$$\therefore (e) \vee (f) \subseteq (e + f)$$

$$I \vee J = (e) \vee (f)$$

$$= (e + f)$$

$$\therefore I \vee J = (e + f).$$

Theorem 3: The class of all principal ideals of a 3-ring is a complemented modular lattice.

Proof: For every pair I, J of principal ideals, $I \vee J, I \wedge J$ are principal ideals. And $(0), R = (1)$ are principal ideals.

Suppose I is a principal ideal of R . Then there exist a principal ideal J such that $I \vee J = R, I \wedge J = 0$.

Let I, J, K be principal ideals and $I \subseteq K$.

Claim: $(I \vee J) \wedge K = I \vee (J \wedge K)$

Consider,

$$(I \vee J) \wedge K \supseteq I \wedge J = I \text{ and } (I \vee J) \wedge K \supseteq J \wedge K$$

$$\therefore (I \vee J) \wedge K \supseteq I \vee (J \wedge K)$$

$$\text{Let } x \in (I \vee J) \wedge K$$

$$\Rightarrow x \in I \vee J, x \in K$$

$$\Rightarrow x = y + z, \text{ where } y \in I, z \in J.$$

$$\therefore x \in K, y \in K (\because I \subseteq K)$$

$$\Rightarrow y - x \in K$$

$$\therefore z \in K.$$

$$\begin{aligned}
&\therefore z \in J \cap K \\
&\therefore y + z \in I \vee (J \cap K) \\
&\Rightarrow x \in I \vee (J \wedge K) \\
&\therefore (I \vee J) \wedge K = I \vee (J \wedge K).
\end{aligned}$$

\therefore The class of all principal ideals of R is a complemented modular lattice.

REFERENCES

1. Foster, A. L: p-rings and their Boolean Vector Representations, Acta Mathematica, Vol.84(1951), 231-261.
2. Irving Kaplansky: Fields and Rings, Chicago Lectures in Mathematics, The University of Chicago Press, Chicago, 1972, 87.
3. Neal Herry McCoy: Rings and Ideals, The Mathematical Association of America.
4. Neuman, J. V: On Regular Rings, Proc. Nat. Acad. Sci, U.S.A.ZZ(1936), 707-713.
5. Vijaya Kumar, B: A*-algebras and 3-Rings; Ph.D. Thesis, Acharya Nagarjuna University, 2009, A.P., India.

** Corresponding author:*

¹*Dr. B. Vijaya Kumar,
Head, Dept. of Mathematics,
Andhra Christian College,
GUNTUR -522001,
Andhra Pradesh, India.
bussavijay@gmail.com*

²*Prof. P. Koteswara Rao,
Professor of Mathematics,
Dept. of Commerce and Business Admn.,
Acharya Nagarjuna University,
Nagarjuna Nagar-522510,
Andhra Pradesh, India.*